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Record :

A function f : IR- IR is continuous at x if for all E > o
there is home I > 0 much that
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Continuity

Let (X ,
dx) and (Y, dy) be metric graces .

A function f : X - Y is continuous if for all Go

there is home or> 0 much that

dfflxl , Hyde E when
ye
X is such that dxkiykr .

f is continuous if it in continuous at all × EX .



Recall :
In a metric space

(X
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d× ) :

Bx lair) = { z e X : dxla
,
z ) er }
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Proposition:
If f : X → Y and g

: Yu Z are continuous
,
then ro is got .

:
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( i ) f is continuous at x

Iii ) if fxn3n is any sequence
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Proof of lit ⇒ Gi) . Let E > 0
. f-
-

Let s > o be mich that dyltlxhflylk E
×

.

when dxlx
,glad .
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( i ) f is continuous at x
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ProfofH⇒: Assume f is discontinuous .

Then there is

some E > 0 such that for any 8>0 there is home ye 13×4 ;
o)

much that dylflxl , fly)) > E . For every
f- In (n EIN)

,
let

xn=y

be such a point .
Then dxlxn ,

x) at ⇒ O
,
but

dy (thx) ,
fkn )) Z E Xo O

Ba
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QUESTIONS ?

COMMENTS ?


